3

Werite — as a decimal.

10

What is 36 + 10?

What are the coordinates of the point?

-
N
W
N
o
=

Multiply 38 by 6

Yy
5
4
3
2
1
0
-1
-2
-3
-4
-5




Week 3 Day 2

What percentage is shaded?

2)  What is 28 + 1007

y
5
4

3)  What are the coordinates of the point?

4)  Add together 648 m and 2,500 m

IR SN




al o3 k u Year6 Week3 Day3

Write one half as a percentage.

Calculate 08 X 6

What are the coordinates of the point?

n
A
NO®
RO
N

Write down two factors of 12

M AEN 2o = v wbd o




s h Lo [ c k Y Year 6 Week3 Day4
- a .

Write one quarter as a percentage.

Work out 7 X 0.09

|
Multiply v by 3

What is the 6 worth in the number 4, 6237?




Year6 Week 3 Day5

Write 35/ as a decimadl.

What is 2.7 X 5?

y
5
4

What are the coordinates of the point?

-0 - N W

What is 324 + Y4?
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